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2 aTermeor. .50 GK\pmd WpBH Flullest ellemev T50/-, 50 H\TMLD 2 6V
FrmLlenguiler aflemev ¥10/- LDMMILD 50 SAFTLD LTS LHLIL6oT
allemev T60/- 6Teol16v, speUGEUMH LIlaL1 emLulledr allemevemulss

& 60T .

Siyey :
Ll emLISGemeT e 3|6vof] aulgailev 6T
A= HH ]
2 VG SHJITL 6T

[ 1 I
LT LighL 100 200 250

pHH 100 100 250
| 50 100 150

k= o
50
elemev B = [50 10 60]
LflaLl1 emugerfleot eflemev = B (kA)

I I I |

_ 501060 | 100 200 250

01100 100 250
50 100 150

= =




I
BA =[50 10 60 2

4
y

1 2

100 + 20 + 60 ] 180

= 12004204120 | = | 340

250 4 50 + 180 480
g6 :
el | =180
el Il = 340

6oLl Ill = ¥ 480 &L,&LD.

Ex 7.2

Question 1.
g at Baye
gl GCE:Memalemnl N FflaUBSSETION, |5 B2 ¢ + a? | = 0 6TetT BHlMIa| 5.

s 2 a*4P?

8 a Vi
A=|s b 2+ a?|etenns.
9 & b
1 & P
1 B b
1 & a2+ b?
C1 elapIba S GQeuerfluiley eT(h & & LILIL (H6Temsl.

o

=5



1 &? @4 ae®
=s|1 & a2+b2+cg C3-=C +GC3
1 €& a4 P4

1 & 1
=sf@+b2+cA1 ¥ 1
1 ¢ 1

@ + b? + ¢ ?) C3 S pH & Qeusfluiley 6eT(M&HELILIL (H6TemsL.
=s (@ + b? + %) (0) ( C1 = C3)
=8 = RHS

Question 2.
b+ec be b2
c+a ca c*a’|=0eer HM6|s.
a+b ab o’V
gre :
b+e be b2
A=|c+a ca c*a®
a+b ab a®b?
R1, Ry, R3 &3 (Lpem»m @l a, b, ¢ 31,6v (pemmGuLl abec 316V 6T(H&8

ab+ac abc ab®c?

A:ﬁ bc+ab abc a’bc?

ac+be abe a*bre

\ ab+ac 1 be
= {il:: bc+ab 1 ac
ac+bc 1 ab

C,, C3 W6 mB S abe 83 Gleuertluilev 6T(h&a



ab+bec+ca 1 be
=abclab+bc+ca 1 ac|Ci—=C+C3
ab+bc+ca 1 ab

1 1 be
=abc(ab +bc+ca)fl 1 ac
1 1 ab

C1 60lapb &l (ab + be + ca) & Gleuerfluilev 6T(h &
= abc(ab + be + ca) (0) =0
[ Cq, C FJEUELOLD LI6DOTL| 4-60T LILQ ]

= 0= RHS.
Question 3.
a® be ac + ¢
a? + ab b ac = 4a°b?;c? eTeoT BlMIY 5.
ab b* + bc c?
Bje) :
a? be ac + c? a c a+c
LHS = |a® + ab b ac |=abcla+b b a
ab b + be c? b b+c c

C1, G C3 69@pIB &I (et mEGLL a,b,c 82 Qeuerfluilev 6TH&S ,

2(a+c¢) ¢ a+c
= abc 2((1—|—b) b a Ci-CG+G+G
2(b4+¢) b+ec ¢

(a+c) c a ¢
=2abc| (a+b) b a
(b+e¢) b+ec c

C1 68l &l 2 83 Gleuerfluiley eT(h &5,



a+c¢c —-a a+c
= 2abcla+b -a alC,— C,-C,
b+c O c

a+c —-a 0
= 2abcla+b -a -b C,—»C,-C,

b+e 0 -=b
c —a 0
= 2abcl0 —-a -b
c 0 -b
1 -1 O

= 2abc (cab)|0 -1 -1
1 0 -1

Cy, G, GBS WemmBUl ¢, a, b & Qeuerfluilev eT(h &5,
=2abxc2 [(1-0) + 1 (1) + 0]

= 2a2b2c? x 2 = 4a%b?c? = RHS

eTeoTGeu BIBLUIGSLILILL ).

Question 4.
1 a 1 1
1 T4% 1| =abe(1+ 1 + ¢ + 1) eTedr Bloiays.
1 1 1+e¢
g6y :
14+a 1 1
Kl 1+b 1
1 1 14



Ry = R{—R,
R =R;-R3
Ry = Rj

=alb+(1+c)+c]+b0+0)
=alb +bc+c)+ bc
ab + abc + ac + bc

1 1 1
=abC(1+E+E+F)=RHS.

Question 5.
sec2f tan?h 1

tan2@ sec2 —1 =0 eTeor Bloie) .
38 36 2
gre) :
secf tan’6 1
A=|tan?6 sec’d -1
38 36 2

sec? O — (tan2 0+ 1) tan28 1
= [tan? 0 — (sec::2 0 — 1) sec2 —1
38 (36+2) 36 2

G S W

0 tan?6 1
=|0 sec?f —1|=0=RHS
0 36 2



Question 6.
x+2a y+2b z42¢

x Yy z| = 0 eT60T Bl mI6)|&.
a b c
g6 :
r+2a y+2b z+2¢
A= i Y z
a b c

= (x + 2a) (yc — bz) - (y + 2b) (xc — az) + (z + 2e) (bx — ay)
= XycC + 2ayc — bxz — 2abz — xyc — 2bxc + ayz + 2abz + bxz + 2bxc — ayz — 2acy
=0 =RHS

Question 7.

3 x 3 auiflens 2 LW 6THT FLNEFT 3j6voflWIedTQUITS

QUL EUSHENS 6T(DSIS. SIH60T {60018 C&H MeneuUlledr LDG)LIL| O 6T6oT:
HTL (.

g6 :

0 a2 a3
—a12 0  as
—a13 —az 0 [3.3

0 ala a3
A=|—a;s 0 a3

—ai3 —az3 0
= 0[0 + (@3)°] — a12[0 + aj3ay3] + aq3lasazs — 0]

O"'M‘ 7ay —0=0

aanGey B ilssinu’L g.



Question 8.

a b aa-+b

b ¢ ba-+c|=0e¢6flev, a, b, c 6TEOTLIGT G.P. -60 B|eMLOW|LD |6V6VEI o
acx+b ba-tc 0
6T6OTLI G ax? + 2bx + ¢ = 0-68T 6p(IH PLOGVLOITELD 6T6uT Bl M6 .

G yeor :

a[0 — (ba + ¢)2] - b[(-aa + b) (bat + ¢)] + (aat + b) [b(ba + ¢) —c(aa + b)] =0
-a(ba + ©)? + b(aat + b) (ba + ) + b (aa + b) (ba + ¢) = c(ac + b)2 = 0

(ba + ¢)[-a(ba + ¢) + b(ac + b)] + (aat + b)[b(bat + ¢) —c(aa + b)] =0

(bou+ c)| - gb6 — ac + bt +b* |
+ (a0 + b) [b2a+b€—aca-—,br/‘]=0

(ba + c)[b2—-ac] + (aa + b)a(b2—ac) =0

(b2—ac) [ba + c + (o + b)a] =0

(b2 —ac)[ac? + ba + ba +c] =0

(b2 —ac)[ao? + 2ba + c] =0

b2 —ac = 0 (]6V6VE) a(SVEVSGI)? + 2b(BjeVeVEI) + c =0
b2 = ac - a eTeOTLIS)

b= Vac ax2 + 2bx + ¢ = 0-60T 62(IH eLNEVLDMGLD

~a, b, Ce@ G.P.

Question 9.
1 a a®—be
1 b b —ca|=0e¢erm bloe|s.
1 ¢ 2 —ab
ge :
1 a a®>—be
A=|1 b b —ca
1 ¢ Z—ab
=1[b (c2-ab)-1(b2-ca)] —a[1(c2-ab) -1 (b2 - ca)] + (a2 - bc) (c -b)



o s 25 gl 1 s g o
+ dc-p - 26+ e

=0 =RHS

Question 10.
a, b, c 6TEOTLIGOT €p(Ih A.P-60T p, q LOMMILD r QL6112 MILIL|S6T 616016V,

LOGLIL| S5T600T5s.
gre)
a=a+(p-1d
b=a+(qg-1)d

c=a+(r—1)d

a b c at+(p—1)d a+(g—1)d a+(r—1)d
. g N = p q r
{1 TR | 1 1 1
a a a (p—1)d (¢g—1)d (r—1)d
=|lp g r|+ P q
1 3 1 1 1 1
-1 (¢—-1) (r—1)
=0+d P q r
111
P q T 1 1 1
=dlp g r|—({0 0 0
1 1 1 0 0 O
=d(0)-0=0

- D

—_— 8 o

- 0




Question 11.
a’® + z? ab ac
ab b + z2 be | etedrm 24600fl&HCHMemen x* 2160 eu@ELIGBILD 6T60T Bl o6y 5.
ac be 2+ z?
g6y :
a® + z2 ab ac
A= ab b + x? be
ac be A+ x?
= [(@2 + x9)[(b? + x3)(c? + x?) — b%c?] — ab[ab(c? + x?) — avc?] + ac [acb? — ac(b? + x9)]

= [(@% + x3)[b%c? + c®x? + b?x? + x* — b%c?] — ab(abc? + ab — abc?) + a’c?b? — a2c?(9b? + x9)]

[M+M+M+e2x“+p§ﬁf—

+bzx4+az;4+xﬁ—ﬂ;bycf—b3f}f{—p%b}5{

—ﬂ}§§+a2ﬁlfz+a2,e2}bl~p}bdcz—az,e'zlxz]
x4 + b2x4 + ax* + X6

x4@? + b2 + ¢ + x6 @&l x* Q6L eUGLG)LD.

MIIEE
a? + z? ab ac a? ab ac z2 0 0 a’? ab ac
ab b+ z? be =lab B be|l+|0 z2 0|=|ab b be|+x°
ac be c? + x? ac be 2 0 0 =z2 ac be 2

a® (£ &2 — P ¢ ) - ab (abic? - gbc?) + ac
(abzc—aﬁd c) +x8

=0-0+0+x°
= x® @& x* 9160 6U@GLIBILD. 6TeoTGeu BIHLNSSLILIL LS.



Question 12.

a, b, c eTeoTLIemG LOl6M & IDMMILD D{6m6) 6(IH G.P.-60T p, q LDMMILD 7- 461G 2 MILIL|&6T
loga p 1

eteotley, |logh ¢q 1| eTent Blmue .
loge r 1

Bey :

a=arP ;b=ar9" Tc=ar"’

logar?™ p (p—Vlogar p

= |logar’" ¢ 1| =|(¢-1)logar g

logar™ , 1 (r—1logar , |

p-1 p | (p-1+1) p 1
= logar|q—1 q 1 =logar{(g-1+1) ¢ |
r—-1 »r 1 (r—1+1 » 1
P r 1
= logar|q9 9 1 =logar(0)=0 (..C,=C,)
F oFl
Question 13.
1 log,y log, =
X, Y,z # 1 etentlev, |log, x 1 log, 2| -eoT LDBILIL| HTE00TS.
log. z log.y 1
GIye) :
1 log,y log, =
log, = 1 log, =~
log. z log.y 1

= 1(1-logzy . logyz) - logyy (logyx — log,x . logyz) + logyz[logyx log,y — log,x]



= (l—l)—ltugr].'[lﬂrgf,,J'?*'k]r

Z

log, x +log =z Il]g"'x—li:)g x
y " | log, 2 :

z

lﬂgx Y. 1ng X + lﬂ‘gx Z, lﬂg}, X

= -log,ylog, x+
log, y

 Jog.y log,z

log, z

A —f=0

1 a
A = [S ] serfled, Yy det(A9) = 3 (1 - &) eTewT Bloiey .

= —] -1
log,y log,z
Question 14.
1
2
g6 :
1
v & TR
|A|=[0 1]:2X2'—0
D)
det A’ -%

4 4

r=%(<1 |
a(l—r"

S”: 1—7

S=

{-) -2

A \4) ) AU &
- %



Question 15.
allifleyLIM &S TIN6L LiledTeu@hLD 26t0fl&Camemeau S erfledT oG IemnLIS &meoorss.

2 3 4 z+y y+z z4=zx
Ml 5 6 8| (ii) z 2 Yy
6z 9z 12z 1 1 1
Gre :
2 3 4
A= 5 6 8
6z 9z 12z
2 3 41
Al=3x|5 6 8
2 32 4

3x 83 R; 60lapH & Qeuerfluiley 6T(H &)
=3x(0)=0[" Ry =Ry]

z+y Ytz zt=
(A= z T (]
1 1 1
&—¥ Y-8 248
A=|lz—xz z—y Y
0 0 1
Ci-C-C,0-0-C3
—(2—2) —(z—y) =

=| z—=x T —y y
0 0 1
-1 -1 =z
=(z-xx-y)| 1 1 v
0 0 1

(z-x)23C1 BB SID (x - y)s C; alledlaph D Geuerfluilev eT(h& .

-1 -1
L A=(z- -y) |1
AR



Question 16.
A 6T6OTLISI 62(IH F&IT J6v0f] LDMHMILD |A] = 2 eTeofl6v, |AAT|-60T
IOGLI6mLIS 85T600T 5.

Siyey :
|AAT] = |AJJAT] = [AJIA] (-~ A = |AT])
=2x2=4

Question 17.
A, B 6TeoTLI6OT |A|= -1 LDMMILD |B| = 3, eT&UILDMMI 2 66T 3 auiflem s
FSIT /600115 61T 6160116V, |3AB|-60T LOG)L16MILIG &IT600TS.

Siyey :
|3AB| = 33|A||B
il gl B 3 0 '0
=310 1 B|x-1%3=80 3§ 0|=-1%3
0 0 1 g @& &
=33 x <1 x3=27 x3=-81
Question 18.
0 2 1
A= -2 eTenfley, | A2 0 3\2 11|67 LDH 1ML &IT600T5.
—1 6X=—1 0
g ey
0 2
B=1 X2 0 3\ 4+ 1|er6ors.
-1 6Xx-1 0
A -6VA = -2 eteor LYgSHIudlL
0 2(—2) 1
A=|(-2)2 0 32741
-1 6(-2)—1 0




0 —4 1
- 0 13
-1 —-13 0

=00 +169) +4 (0 + 13) + 1(-52)

=0+ 52-52=0

GOSN A @@ 6TH T FLOFFT 360011 WITEGLD. (LD S 60T60IL0
eLnemeVallL L @ MILIL|S6T 0 6T6OTLISTAVILD 6TH T FLOEF 36001
A-60T 96001185 B & Meme LL,s2eSlWLILD 6T60TEVITLD.

Question 19.
1 4 20
1 -2 5| =0 6T60TM &FLO6OTLIMTL_ Q60T PLOGV RIS 6M6MTS & IT600TS:
1 2z 5z
giey:
1 4 20
A=|1 -2 5 =0
1 2x 52

= 1(-10x% — 10x) —4(5x% = 5) + 202x + 2) = 0

= -10x2 - 10x - 20x2 + 20 + 40x + 40 = 0
= _30X2.fsup> +30x+60=0

X +x+2=0

¥2—-x-2=0

A,

-2 +1



Question 20.

4 3 -2 1 8 3
A=11 0 7| oMb B=| -2 4 0| eeTm 2600 1HEH&HG det(AB) = (detA) (det
2 3 -5 9 7 &
B) eTeor FflLIMT&H& .
gie :
—2 . 3 &
AB=1|1 0 T -2 4 0
—5 9 T 5

(4—6-18) (12+12—14) (12+0—10)
(1+0+63) (3+0-+49) (3+0+ 35)
(2—6—45) (6+12—35) (6+0—25)

—-20 10 2
=| 64 52 38
—49 —17 -19

AB| = —20

52 38 1_10‘ 64 38 ‘ 2‘ 64 52 ‘
=1 19 —49 -19 —-49 17
-20(-988 + 646) — 10(-1216 + 1862) + 2(-1088 + 2548)

= -20(-342) - 10(646) + 2(1460)

6840 — 6460 — 2920 = 3300 .....(1)

4 3 -2
dettA)=11 0 7

2 3 -5
=4(0-21)-3(-5-14)-2(3 + 0)

= -84-3x(-19)-6
= -84 +57-6
= -90 + 57 = -33



1 3 3
(detB)=|1—-2 4 0

9 7 5
=120 + 0) -3(-10 + 0) + 3(-14 - 36)
=20+ 30+ 3 x-50
=50-150 =-100

(det A) (det B) = -33(-100) = 3300 .........(2)
(1) =)
- det (AB) = (det A) (det B)

Question 21.
5 3 8

A=12 0 1/|ereorm ojevorlwiledt @ meoorLmD mlemguwilev 2 66 @ millL|&erleor
1 ‘2 3

(8) 60) 60T & & IT 76001 | & 6M6IT LI LILLI 6T LI(H &G, |A] -60T L0G) LIem LIS & T600T 5.

@ evor LITLD mlempwilev 2 eTem @ miliL|&er 2, 0, 1.

2-60T (©)) 60) 6007 & & [T 16001 |

3 8
:_11+2
21 = (-1) 9 3‘

-

(-1)*9 - 16)
=Dy> Ty =17



0-60T (©) 606001555 T [J 6001 |

5 8’
1
=(-1)*(15-8) =7

Agy = (-1)2*2

1-60T (@) 606001 & 55T [J 6001 |

Di 3
A =H12+3
23:=(-1) 1 9
= (-1)5(10—3) = 4 %7

= 7
oAl = ap1 Agr + agp App + a3 Axz
—2xT+0x7+1x(7)=14+0-7=7

Ex 7.3

Sletreu BeuctrauMMIH G &Myesnils CH MM & s
HweTUBh S S8 :

Question 1.
r a a

a x al|=x-a)?(x+ 2a)eer Hlmia|s.

a a 4
Fe) :
xr

A=|a z al,x=ae6ler A-60 LITEIULIL

(g
Il
! 2 2
g8 8 =2
& & ®
Il
o



2160)60TS 5 BlenTHEHLD (3 HlemTSHET) FLOLD 6T60TLISTED (X — a)° 24,6015 A-60T 621
& Tyeool| 9l,@&LD.
X = -2a 6TedT A-60 LTSl

—2a a a 0 a a
A= a —2a al=10 —2a al=0["C -G +C+ (]
a a —2a 0 a —2a

. (X + 2a) @@ &TIeoof W MESLD.

o (x—a)? (x + 2a)" QL60TSHI A-60T &5TI6001&H6T LM MILD LILGUIT6oTS 3
EINGThE

(NG 6TEMLD eLNEm VAL L& G 60T GlLI([HE&HMLI6V6dTl6oT LILgU]LD 3.

6TeoTGeU LDMAMITH &HMTIevol k & @) ([HESH Gauevor(hLd.

r a a
a x al|=k(x-a)?(x+2a)
a a =

x> — 60T 2_MILIL|S6emeT @ HLMUNLD FlILIHSS)
Ti=k

Question 2.
bte a—¢ a—b
b—c c+a b— a|=8abcerer HBlmie|s.
c—b c—a a+b
g6 :
b-¢ a—¢é a—0b
B=lb—& &+da b—a
c—b c—a a-+b
@ mi@ a= 0 ereor LNgpGHILIL



bt+e —e -Db

=|lb—e ¢ b
c—b c b
C,, C3-Wiledlmmb &l ¢,b-22 Qeuerfluiley eT(h& o
b+e -1 -1
= be(h —e 1 1.| =0
c—b 1 1

= @@ ST I WMGLD. @em& L1 GLITV b,c UJLD &ITF600T & 6T MG LD.
QHMTHSEHLILL(H6TeT 3|6orl8 Comemneuuileir (L& 60TemLD
eLnemevalll L QLIHEFHM LI6V6DTl6dT LI UIMEOTS 3 Qi@ LD. eTeor el
LOMRMITBLLG k &L,&SLD.

b+c a—c a-—b»
“|b—e eda b—al|=kabc

E—b B—i ab
@&va=1b=1.c=1eerl UpeHuiL

2 090
0 2 0l=kxtx1=x1
0 4 2
=hk= B
- A = 8abc
Question 3.
el ) b c
Slj&'saa: a +b el =0
a b z+c

g6y :



T+ a b c
A= a x+b c | 6Te0TSs.
a b z+c
@ &Flev x = 0 6T60TSs.
g. b &
A=|a b ¢|=0.ep60TM HleMTSHEHLD FHeUSOLD.
g. b g

o X2 @ SITI60oT I WMELD. CLosYIh A-60 X = -a — b — ¢ 6T60T&. —

el b c
A= a —a—c c| @86
a b —aq —b

CT=C1+C2+C36TE;6ﬂ6:U

0 b c
=10 =—a—e c|=0
0 b —a—0b

s~ (x+a+b+c)em&mreolm@GLD. QaTHISELILL L 96l &CaHTeneuuiler LIQ 3.
LOMGMITIH STTesot] k 218 @) [H5EH Ceuesor(hLD.

z+a b C
a z+b cl=kdx+a+b+c) @FBe6v
a b z+ec

a=0,b=1c=2x=16eerl1NyHuilL

| TR |
0 2 =k(1)2(1+0+1+2)
0 1

W N

_—
=~

6-2)=
= 4k
k=1

(4)

003



x+a b c
a z+b cl=x2(x+a+b+c)=0ee6m CQE&THEHELILL(H6T6T).
a b z+ec

=x(x+a+b+c)=0

=2x2=09606V5 (x+a+b+c)=0
x = 0, 0 BJ6L6EVL G

XxX=-a-b-c

x=-(@a+b+¢

Question 4.
b+ec a
ct+a b
at+b c
gie:

b+c a
ct+a b
at+b c
=(@a+b+c¢
(Cq Ol@BIHS!

a

B2 |=(+b+c)(a-b)(b-c)(c—a)eler BHlmias.
o

a? at+b+c a a2
Bl=|la+b+ec b P |C-C+C
> at+bt+e ¢ 2

1 a &

1 b b

1 &

(@ + b + ¢) 23 Geuerfluilev 6T(H&5)

b’

b | 6TeTS

2



a = b eTeor A-6L LIIgGHIUIL
1 b B
=11 b b?|=0=(a-b) M &Myen]

1 e &
@emn&LICLIMeLEE (b - ¢), (c — a)-LD A-60T &ITT600&HETITE B{6emL0W]LD.

QEMHSSLILIL L 6ol &Csmemeuuilenr Ll 3.
S IDMHQMTIH &Treoot] k 9,86 @ (H&5 Caleoor(hLD.
Yva = | B=2d=3 Gighi

a {12

1
A=[1 b b |=ki@a-b)(b-c)c-a)-ev LNpHuiL
1

C C2

TR |

2 4|1=k(1-2)2-3)(3-1)

3 9
1(18-12)-19-4) + 1(3-2) = k(-1) (-1) (2)
6-5+1=2k

2= 2k

=4 =]

B2 |=@-b)(b-0)(c-a)

btei a a?
le+a b Bl=@+b+cda-b)(b-c)(c-a)
a+b ¢ 2

= RHS. eteoTGau BIMHLINGELILIL L G|,



Question 5.
4—x 4+x 4+ =
G765 |44+ 4—2 44+ 2|=0
44+ 44+ 4—=x
g6 :
4—xz 4+x 4+=x
A= l4ta 4—5 Al =0
44+ 44+ 44—z

A=@G-X[4-X-EG+xE+X]-@G+x[4+X@-X)-@4+x7°] + 4
+X) [(4 + %)) — (4 + x) (4 —X)]

A=(@-X)[d-x-G+x]-@G+x)[#-x-@G+xT+ @ +x[(4+x?*-
(4% =) ;

A=A -xX)[16-8x+xX>—(16 +8x+x)—(4 +x) (16 —x>— (16 + 8x +x°) + (4
+X) [16 + 8x +x° — (16 — x3)]

(4-x) 6 - 8x+ 2 — 16 —8x— 7]
—@+x)[16 - — 16 —Bx—x})+(4+x)
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Question 6.
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Question 6.
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Cl(a+1)(b+2)—2(b+2) 4

#=[, 1) 3l
SO B

2—-2 —2+1 0 —1

_{a%—i—b a—l]
“lab—b b+1



Az+BZ=[1 0]+[ﬁ+b al]
0 —1 ab—b b+1

_[@2+bn al}

B ab—b b

1) 0
:(A+B)2: (a+ )
(24+b+2a+ab—4—2b) 4
=b=4(a-1)=0
=a=1.
(elemL:
)a=1b=4)
Question 7.
L2 2
A=12 1 —2/| eredrugl AAT = 9l 6T60TM FLOETLIML 6B Hlet M6y Gl
@ 2 b

6ol WM& LD. @ mIE | eTeoTLIG 3 x 3 auiflema weTem &Lneot] 2jevofl eTenflev, (a, b) eTedoTm
aflema Geamiq

(M @ -1)

@2 1)

3@

@) (-2,-1)

GOl :

1 2 9
A=12 1 —2]|.A"=
a 2 b

12 2111 2 @
Bill=12 1T —2|}2 1 2
a 2 bl|l2 -2 %

b b



(24+2—14) (44+1+44) (2a+2—2b)
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